N = 0l & AF & F Al A
011EE Z0ah 285 PAS ~ 02
SN YoS
By HN2AAL(IYS)
£hol: Jl= Al CEERED
SN -EHH . (B) - MPAY - BE2 O &t 04 e HRz2
IS 105,373 107,115 N1,742
HE2IHH(ZLS) 105,373 107,115 N1,742
Jl=2dHl 105,373 95,469 9,904
FaS Jl=3Hl 105,373 95,469 9,904
201 et=gl 32,456 31,752 704
01 AtR 22/t 32,456 31,752 704
SILIEES=TT) 25,400
ORAN2E SHHA 25,400,000 * 14 25,400
Ol=&tl] 7,056
ORN2Z SHUAHL 7,056,000& = 14! 7,056
202 044 60,372 62,772 A2,400
01 WY 9,972 9,972 0
SIEIIVED 9,972
ORAMSY SN  9,072,0008 « 14 9,972
02 XN 50,400 52,800 A2,400
OZegs sHAHY 200,000& = 21@! * 128 50,400
203 ¥R =&l 11,600 0 11,600
01 |22 LR=LHI 6,600 0 6,600
OJ 22 LL=LH] 6,600,000& ~ 15& 6,600
02 FRAINMAHRFAHI 800 0 800
OFJIAHRFHI 40,0003 * 209! 800
04 RA2SERF=LH| 4,200 0 4,200
ORM2IYR=LH 350,000& = 123 4,200
405 AHoHESHI 945 945 0
01 XHAUSEFHSY) 45 %45 0
Ogds 25 7| 945,000 * 14 945




SN -BH - S(B) - MRAY - BES Off &F o4 e HRE2
N 150,277 150,208 69
Hed(45S) 150,277 150,208 69
EEF 150,277 138,238 2,039
458 J1=3Y) 150,277 138,238 2,039
201 Y2 50,972 50,936 36
01 At 50,972 50,936 %6
Oler+gH] 41,900
ORMSZ ZAUH& 31,000,008 » 14 31,000
OMSS EN0IAA Yoyl
908,3302 * 128 10,900
OlaHl] 9,072
SN2 BUHA 9,072,008 x 1A 9,072
202 0it] 86.360 86,357 3
01 =uHoid] 11,960 11,957 3
ol=uoi] 11,960
ORNSY ZAUM& 11,960,008 14 11,960
02 2o 0iH] 74,400 74,400 0
OMBS ZAUML 200,009 * 312! « 122 74,400
203 REZH| 12,000 0 2,000
01 J22YYLEY) 6,600 0 6,600
OJBSZALETY 6,600,008 * 1S 6,600
02 MEItANYLRET| 1,200 0 1,200
OFAINMARE Y 40,0008 * 302! 1,200
M PH2YYLETY 4,200 0 4,200
ORASgYRENY) 350,0002 * 122 4,200
405 RtarE S| 45 945 0
01 MAUSEH S| 45 %45 0
OMEE 28 7YYl 945,0002! * 14! 45




SN SRS
HH: HNSHFY(HE)

SEEPIEEY (Erol: &2
SN -EHH . (B) - MPAY - BE2 O] Ak 4 glggf; HRE2
HaH 70,559 70,708 A 149
HY2AHH(HEH) 70,559 70,708 A 149

Jl=2Z4l 70,559 60,394 10, 165

gad =23l 70,559 60,394 10, 165

201 B3| 17,734 17,729 5

01 AtR 22/t 17,734 17,729 5
Olggr+gyl] 13,500
ORAN2E SHHA 13,500,000& = 14 13,500
Ol=&l] 4,234
ORN2Z SHUAHL 4,234,000& = 14l 4,234

202 O4Hl 41,720 41,720 0

01 =W 5,720 5,720 0
SIEIVE] 5.720
SN2 BUHY 5,720,008 * 14 5,720

02 EAHNYI 36,000 36,000 0
O"HaH SHH & 200,000& = 1501 = 12& 36,000

203 ¥R =&l 10, 160 0 10, 160

01 JI22FHRF8| 6,600 0 6,600
OJ 22 LL=LH] 6,600,000& * 15™ 6,600

02 FRAINMAHRFAHI 560 0 560
OF AR EHY| 40,0002 * 149! 560

04 PN2IHRFAHI 3,000 0 3,000
OFRN2IHRF&HI 250,000& = 12& 3,000

405 AHoHESHI 945 945 0

01 RHAUSEH S| 45 45 0
Ogas 28 2l 945,000 * 14 945




2N 3FH
N HHSAAH(SHH)

Sl =Yl (erel: @ 2
SA - SR(E) - HRAY - BES 01l &4 24 e HIRE
238 70,559 70,708 A 149
HHSHAY(SHD) 70,559 70,708 A 149

o122l 70,559 60,394 10, 165

23 Jl=2Y| 70,559 60,394 10, 165

201 Yer2ey| 17,734 17,729 5

01 At22t2It| 17,734 17,729 5
Olgetagt] 13,500
ORNSYE o H A& 13,500,0008 * 12! 13,500
Ol2zl] 4,234
ORNSYE U H A 4,234,0008 * 12| 4,234

202 01| 41,720 41,720 0

01 2UH0tHl 5,720 5,720 0
O[2h0itl] 5,720
ORNSY U4 5,720,0002 * 14l 5,720

02 2% 0ft 36,000 36,000 0
0S8 SAUH 4 200,0008 * 1591 * 128 36,000

203 YR EAY| 10, 160 0 10, 160

01 JlBeYARFAY| 6,600 0 6,600
OJIB2YYR=EFE 6,600,000 « 158 6,600

02 HAIIAARETIY| 560 0 560
OF RIS REFIY| 40,0008 * 149! 560

04 RASZARZAY| 3,000 0 3,000
ORN2YYR XY 250,0002! * 122 3,000

405 XtoHE S| 945 945 0

01 RAUBEFHSH| 945 945 0
OZ23s 22 Y| 945,0002! * 14l 945
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K- E3 .S (3H) - MBAY - B Ao gggf; HRS2

80,796 80,798 A2

SHHHI(ASH) 80,796 80,798 A2

3t 80,796 69,332 11,464

=W J|=240| 80,796 69,332 11,464

201 LBt29H| 21,041 21,017 24

01 At 22l 21,041 21,017 24
Olger2=24]] 15,900
ORNESY SHAHN 15,900,000& * {14! 15,900
Ol2&hl] 5,141
ORN2BY SHAHN 5,141,000 = 14] 5,141

202 04| 47,370 47,370 0

01 2| 6,570 6,570 0
Ol=Woil] 6,570
ENEY SHAA 6,570,000 * 14] 6,570

02 X0 b 40,800 40,800 0
OANSH SHHA 200,000& = 1721 = 12& 40,800

203 HR=&H| 11,440 0 11,440

01 J|22H PR =&Y 6,600 0 6,600
OJASHLRFAY| 6,600,000& *» 18H 6,600

02 HJAIMMH =AY 640 0 640
O 2T 40,0002 * 160! 640

04 2EASIEYRF=EHI 4,200 0 4,200
ORNSHERFAY| 350,000& = 12& 4,200

405 KHAHFE S| 945 945 0

01 MY =SS FHSHI 945 945 0
OABH 28 7Yl 945,000& = 14! 945




AN E2H
B NS YA (SER)
chol: = | CERE
K- E3 .S (3H) - MBAY - B Ao gggf; HRS2
EEXH 70,559 70,708 AN 149
HESAAH|(EEH) 70,559 70,708 AN 149
3t 70,559 60,394 10,165
EXZH JIE2&H| 70,559 60,394 10,165
201 LBt29H| 17,734 17,729 5
01 At 22l 17,734 17,729 5
Olger2=24]] 13,500
ORNESY SHAHN 13,500,000& * {14! 13,500
Ol2&hl] 4,234
ORNESY BAHY 4,234,0002! * 14! 4,234
202 04| 41,720 41,720 0
01 2| 5,720 5,720 0
O[2LHobI] 5,720
OFRANESH SHH & 5,720,000 * 14] 5,720
02 X0 b 36,000 36,000 0
OFEXEH SHH A 200,000& = 15021 = 12& 36,000
203 LR F&H| 10,160 0 10,160
01 J|22H PR =&Y 6,600 0 6,600
OJASHLRFAY| 6,600,000& *» 18H 6,600
02 HJAIMMH =AY 560 0 560
O 2T 40,0002 * 140! 560
04 BASHALSAIY 3,000 0 3,000
ORNSHERFAY| 250,000& = 12& 3,000
405 XHAaHE S 945 945 0
B EEETET 945 %45 0
O&ExH 28 24| 945,000& = 14! 945




SH: 2HS
HE: HZSAAH(ZNH)
Sl Jl2 (25l &2
SN-EHH S (3H) - HEAY - BES Off &F 04 glggi; Hnz2

2 Mo 70,559 70,708 A149

2 AAL (AP 70,559 70,708 A 149

o= 2| 70,559 60,394 10, 165

2HEII2H 70,559 60,394 10, 165

201 Yer2ot| 17,734 17,729 5

01 At 17,734 17,729 5
SIEITER=11T) 13,500
ORASY SN 13,500,008 * 14 13,500
SIEEL 4,234
ORNSY BN 4,234,008 * 141 4,234

202 Oit| 41,720 41,720 0

01 =2UoiHl 5,720 5,720 0
Ol=U0iHI] 5,720
SN2Y BN 5,720,000 * 1Al 5,720

02 E0it] 36,000 36,000 0
OBMS SUHA 200,008 « 152 « 128 36,000

203 ZREIH| 10, 160 0 10, 160

01 JIZ2 YL =AY 6,600 0 6,600
OJIZ2YYLERY 6,600,008 * 1SS 6,600

02 HRAIIAYRETY| 560 0 560
OBRAIYRETY| 40,0001 * 149! 560

04 BN2YYLETY] 3,000 0 3,000
ORNSYLRETY 250,002 * 122 3,000

405 XHAHE SHI 945 945 0

01 RALSEFSH| 945 945 0
O2NS 2B 7| 945,008 * 14 945




2M: NESH
M HY2ITH(NSH)
SEESIEEY (cHol @@
N B e2(3H) - HRAY - BES Lo e DS
N=Z 70,559 70,708 A149
HY2LHHI(MSH) 70,559 70,708 A 149
&3t 70,559 60,394 10,165
SH Jl=34 70,559 60,394 10,165
201 LEt=gH| 17,734 17,729 5
01 AtR2telH] 17,734 17,729 5
Olget=gHl] 13,500
ORAN=2E SUAA 13,500,000& * 14! 13,500
Ol=gtl] 4,234
ORAME2E S8 4,234,000& * 14 4,234
202 044 41,720 41,720 0
01 =LHOHI 5,720 5,720 0
SICICIN 5.720
EA2E SHAY 5,720,000& * 14 5,720
02 XN 36,000 36,000 0
OANsH SHA 200,000& = 15¢1 » 123 36,000
203 LR =& 10,160 0 10,160
01 V22 ERFaHl 6,600 0 6,600
Oyja=zdgd2x=atl 6,600,000& » 158 6,600
02 HRIMMHRE=EH 560 0 560
O 2T 40,0002 * 140! 560
04 FEA2SERFAHI 3,000 0 3,000
ORANZ2EdR2F2a| 250,000& = 12& 3,000
405 XHAaHE S 945 945 0
01 Xard 2 E3 SH| 945 945 0
OMzH S5 7Yl 945,000 * 14 945
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S 0le
B W2 YA (012S)
S RS (Ere): & 2
SA - EM . OR(F]]) - NRAIY - BAS O] &t o4 e HREZ

01 d 70,559 70,708 A149

HH2LZHI(D12H) 70,559 70,708 A 149

Jl=238l 70,559 60,394 10,165

0y J=2dl 70,559 60,394 10,165

201 LEt=gH| 17,734 17,729 5

01 AtR2telH] 17,734 17,729 5
Oler+2tl] 13,500
ORAN=2E SUAA 13,500,000& * 14! 13,500
Ol=gtl] 4,234
ORAME2E S8 4,234,000& * 14 4,234

202 044 41,720 41,720 0

01 =LHOHI 5,720 5,720 0
Ol2U401HI] 5,720
SH2Y SUHNY 5,720,008 « 14 5,720

02 0| 36,000 36,000 0
Onlgy A& 200,000& = 15¢1 » 123 36,000

203 LR =& 10,160 0 10,160

01 V22 ERFaHl 6,600 0 6,600
Oyja=zdgd2x=atl 6,600,000& » 158 6,600

02 HRIMMHRE=EH 560 0 560
OZ It S =&H| 40,0002 = 14¢! 560

04 FEA2SERFAHI 3,000 0 3,000
ORANZ2EdR2F2a| 250,000& = 12& 3,000

405 XtotE SHI 945 945 0

01 ML SEH S| 945 045 0
ongy 25 2l 945,000 * 14 945
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